BeikKEK DS RERIE R

KEADEEBEZE (L9 L134KU1370DEET) 10Bg/Ke

OXEBRFF:4H278 (B) FRI9EF005 ~ 1% 1285005
48288 () FREI11EF305

EREREEFKIE T (0.5) T (0.5)
ZRIRFKE T (0.6) T (0.6)
L LF K N (0.6) T (0.6)
&R KiG N (0.5) T (0.7)
B KIE T (0.7) & (0.7)
F/NENE KIS N (0.6) T (0.7)
a5 KiE T (0.6) T (0.6)
H Mm% Ki5 T (0.6) T (0.7)
BAR)IFKIS E T (0.6) EETE (0.6)
IS CEXS EETE (0.5) EETE (0.5)
E=RE KIS T (0.6) T (0.6)
HE 5 KI5 T (0.6) T (0.6)
OfXEnBRF:4H208 (B) FHi 1085005 ~ F1% 1685005

48218 () F/i11185005

4H228 (K) F#% 1265005
Ot #K
a5 KiE T (0.6) T (0.7)
H Mm% Ki5 T (0.5) T (0.6)
BAR)IFKIS T (0.6) E T (0.7)
IS EEXS T (0.6) T (0.5)
E=RE KIS T (0.7) T (0.6)
HE 5 K5 T (0.6) T (0.8)
OfXEBRF:4H208 (B) FRI9EF5557 ~FHI11B105
O #K
EBERIRFKIS T (0.6) T (0.6)
ZRIRFKE N (0.7) T (0.6)
L liF K T (0.5) T (0.6)
&It F K5 T (0.6) T (0.7)
B KIE T (0.6) T (0.7)
F/NENNE KIS T (0.6) T (0.7)
OfXEBRF:4H138 (B) FaI9EF 305 ~ F1% 1485005

48148 () FHiT98F004 ~ 48 1085004

48158 (OK) Fa/i11185005
Ot #K
a5 KiE N (0.6) T (0.7)
H [R;%Ki5 T (0.5) N (0.7)
BAR)IFKIS EETE (0.4) T (0.7)
IS EEXS T (0.6) T (0.6)
E=RE KIS N (0.5) T (0.6)
HEF K5 T (0.6) T (0.6)
& T B8 K5 N (0.5) T (0.7)
OfXExBr:4R 138 (B) F R8I0 ~FRIT18F157
O #K
EERRFKIE T (0.6) T (0.6)
ZRIRFKE T (0.6) T (0.6)
L LF K T (0.6) T (0.6)
&It F K5 T (0.5) T (0.6)
B KIE T (0.5) T (0.7)
F/NENF KIS T (0.6) T (0.6)




OXEBRFF:4H68 (B) FHI9EF005 ~ F1% 1485205
4878 () F/iI1185005
4888 (K) F /11185305

O #K

il KiE T (0.5) T (0.6)
H Mm% K5 N (0.5) T (0.6)
BAR)IFKIS T (0.6) E T (0.7)
IS CEXS T (0.5) T (0.6)
E=RE KIS T (0.6) T (0.6)
HEF KI5 T (0.6) T (0.7)
HEF K5 T (0.7) T (0.6)
ZRF KIS T (0.6) T (0.6)
tEBi%Ki5 T (0.6) & (0.6)
A7 % Ki5 T (0.5) TEE (0.7)
HAEF KIS EN T (0.5) T (0.7)
FAEm 5 KIS T (0.6) E T (0.7)
HEF KIS T (0.6) E T (0.5)
BU/NENEKES T (0.6) E T (0.7)
OfXExB#:4A6H (B) FRiI98F305 ~ FRI 11851053

O #K

EBERIRFKIS T (0.6) N (0.7)
ZRIRFKE N (0.6) T (0.6)
%Ki T (0.6) T (0.6)
&R KiG T (0.7) T (0.8)
B KIE T (0.5) T (0.7)
F/NENF KIS T (0.6) T (0.6)
OfREXB #4818 (OK) FRi1985005 ~ F-1% 14850073

O &K

a5 KiE T (0.6) T (0.5)
H Mm% K5 T (0.5) T (0.5)
BAR)IFKIS T (0.5) R ETE (0.6)
IS CEEXS T (0.5) E T (0.6)
E=RE KIS N (0.6) T (0.7)
HE 5 K5 T (0.7) E T (0.8)



















